N

= ((/\/_\

VEN [

A AL D7 20)

1 4 A2 R (HEE R R R
(CHF T AR
2 Fr @ B A SR & A TH ST
3 AN L B B Sf 24 TAH 11H 004
%1 0E 5% 2 7]
. ESZ (W NFLAT A filif . (C) FFAM i NFLAT A filif s (C) FFAM i " ]
*® F A Y] (BAZ:M) B) |60X {1-B)/FT&E M+ (BA7:H) B) |60X {1-B)/TE M+ " i
filiA% ) filiA% )
BR) mpddgxar sk 44,2 16, 540, 000 12. 4256 56. 6256
(BR) = b B ASHATBH 5 44.2 16, 860, 000 11. 5052 55. 7052
WAnEEt (BR) 49.2 16, 540, 000 12. 4256 61. 6256 PEFLIETE
EEMZE (B 48.7 16, 600, 000 12. 2531 60. 9531
WEEH= L& b () 43.6 16, 650, 000 12.1093 55. 7093

AL ANENRE G o - HEEFHO 1 10501 0 0ICHY T8 TH D,
BB HERI Y 2 &)
FEAMRS CHEBL S & B <)
FRATFEEM RS HE B 2 BR<)

18,
20,
16,

194, 000 H
860, 000 H
540, 000 H




A R AL ST 2B RE AR 2R

¥ B 4 OM2EE (MEERNERGES B AT Ol AL 60 [s
@ F B I e ARG HeAfF s ool At 60 [
A L B :BmM2ET7THLITAH R 1:1
FEATREAM A DR 23 %
i B
- =X £33
TREHME B P i
it R
# B iz i @
No A (i it #* ;J\ S ;J\ ﬁﬁ +
. # ik ; i ’ " 2
o A il ] i =
# " % @ 5t @ S ® ’
% by D £ @
e K &
17 36 3 56 50 50 - 106 60. 0
1| ) mpg#Ear iy b 14 21 3 38 40 40 1 78 44.2
2 | (BR) A b~ BAREINBH % 15 20 3 38 40 40 1 78 44. 2
3 |[WhFnERE (BR) 15 29 3 47 40 40 1 87 49. 2 AL
4 (EBEHZE R 17 26 3 46 40 40 1 86 48.7
5 |WEEH Y AX N (R 16 23 3 42 35 35 1 77 43.6
6
7
8
9
10
11
12

XAfiA% R =60 x (1— AFL{H#&.~ P E M)
(MRS EYIYIET)




